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1. ��-�/ %�$��&�$�%&��� $���'�� �$��$���/ 
�$�$�%%�����,���� ���'�/ 

��. 01 �$�������� ���&��� ���$����'�%��% � 
������&�'�%��% '%&$��%&� � %�%&��, �/�������� 

�'%��������'�/% $���& � %��'� ���$'������/ � 
-�%��'�&�&�. 

1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 
$45>G4O ?D>7D4<<4 ?D>D5EE<>=4?L=>7> <>4G?O (44?55 3 D45>G4O ?D>7D4<<4) 3 
O6?O5FEO G4EFLN ?D>7D4<<O ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 765=4 6 
E>>F65FEF6<< E $��% ?> %�� 15.02.03 �>=F46, F5E=<G5E>>5 >5E?G6<64=<5 
< D5<>=F 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> >5>DG4>64=<O (?> 
>FD4E?O<)   
1.2. &5?< < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O ?D>D5EE<>=4?L=>7> 
<>4G?O  

� D57G?LF4F5 <7GG5=<O ?D>D5EE<>=4?L=>7> <>4G?O EFG45=F 4>?65= 
>E6><FL >E=>6=>= 6<4 45OF5?L=>EF< «�>=F46, F5E=<G5E>>5 >5E?G6<64=<5 < 
D5<>=F 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> >5>DG4>64=<O (?> >FD4E?O<)» « < 
E>>F65FEF6GNM<5 5<G >5M<5 >><?5F5=F<< (44?55 - ��) < ?D>D5EE<>=4?L=O5 
>><?5F5=F<< (44?55 - ��): 

1.2.1. �5D5G5=L >5M<E >><?5F5=F<= 
 

�>4 �5M<5 >><?5F5=F<< 
�� 01 �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4< 
�� 02 �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < 

<=F5D?D5F4F<< <=D>D<4F<<, < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 
6O?>?=5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

�� 03 �?4=<D>64FL < D54?<7>6O64FL E>5EF65==>5 ?D>D5EE<>=4?L=>5 < 
?<G=>EF=>5 D476<F<5, ?D54?D<=<<4F5?LE>GN 45OF5?L=>EFL 6 
?D>D5EE<>=4?L=>= ED5D5, <E?>?L7>64FL 7=4=<O ?> D<=4=E>6>= 
7D4<>F=>EF< 6 D47?<G=OE 6<7=5==OE E<FG4F<OE 

�� 04 -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < >><4=45 
�� 05 �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 

7>EG44DEF65==>< O7O>5 $>EE<=E>>= $545D4F<< E GG5F>< 
>E>55==>EF5= E>F<4?L=>7> < >G?LFGD=>7> >>=F5>EF4 

�� 06 �D>O6?OFL 7D4644=E>>-?4FD<>F<G5E>GN ?>7<F<N, 45<>=EFD<D>64FL 
>E>7=4==>5 ?>6545=<5 =4 >E=>65 FD44<F<>==OE >5M5G5?>65G5E><E 
F5==>EF5=, 6 F>< G<E?5 E GG5F>< 74D<>=<74F<< <56=4F<>=4?L=OE < 
<56D5?<7<>7=OE >F=>L5=<=, ?D<<5=OFL EF4=44DFO 
4=F<>>DDG?F<>==>7> ?>6545=<O 

�� 07 %>45=EF6>64FL E>ED4=5=<N >>DG64NM5= ED54O, 
D5EGDE>E55D565=<N, ?D<<5=OFL 7=4=<O >5 <7<5=5=<< >?<<4F4, 
?D<=F<?O 55D56?<6>7> ?D><76>4EF64, MDD5>F<6=> 45=EF6>64FL 6 
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GD576OG4==OE E<FG4F<OE 
�� 08 �E?>?L7>64FL ED54EF64 D<7<G5E>>= >G?LFGDO 4?O E>ED4=5=<O < 

G>D5??5=<O 74>D>6LO 6 ?D>F5EE5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < 
?>445D64=<O =5>5E>4<<>7> GD>6=O D<7<G5E>>= ?>47>F>6?5==>EF< 

�� 09 �>?L7>64FLEO ?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 
7>EG44DEF65==>< < <=>EFD4==>< O7O>4E. 

 
1.2.2. �5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<=  
 

�>4 �D>D5EE<>=4?L=O5 >><?5F5=F<< 

�� 1.1.  �EGM5EF6?OFL >D74=<74F<>==>-?D><76>4EF65==O5 D45>FO 4?O 
?>47>F>6>< E5>D>< < <>=F464 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5< 

�� 1.2. �D>6>4<FL E5>D>G, D57G?<D>6>G, < ?GE>>=4?44>G 7<4D46?<G5E><E 
< ?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 

�� 1.3. �D><76>4<FL >F5=>G E>EF>O=<O 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5< ?>E?5 6O?>?=5=<O 
=4?44>G=OE D45>F, >>=FD>?L F5E=<G5E>>7> E>EF>O=<O 
>5>DG4>64=<O ?D< 66>45 6 M>E??G4F4F<N 

�� 1.4. �D74=<7>64FL D45>FG ?5DE>=4?4 ?> E5>D>5, <>=F46G < 
?GE>>=4?44>5 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < 
E<EF5< 

 
 
1.2.3. � D57G?LF4F5 >E6>5=<O ?D>D5EE<>=4?L=>7> <>4G?O EFG45=F 

4>?65=: 
 

<<5FL 
?D4>F<G5E><=  
>?OF 

 - GF5=<O F5E=<G5E>>= 4>>G<5=F4F<< =4 ?D><76>4EF6> 
<>=F464; 
- GF5=<O ?D<=F<?<4?L=OE 7<4D46?<G5E><E < ?=56<4F<G5E><E 
EE5<; 
 - >EGM5EF6?5=<O =4?44>< 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6; 
- ?D>6545=<O <E?OF4=<=;  
-?D46<? F5E=<>< 557>?4E=>EF< ?D< ?D>6545=<< <E?OF4=<=;   

G<5FL 
 

- >?D545?OFL ?>E?54>64F5?L=>EFL ?GE>>=4?44>G=OE D45>F;  
- D475<D4FLEO 6 F5E=<G5E>>= < F5E=>?>7<G5E>>= 
4>>G<5=F4F<<, ?>?L7>64FLEO GG55=>= < E?D46>G=>= 
?<F5D4FGD>= 
 

7=4FL - ?5D5G5=L F5E=<G5E>>= 4>>G<5=F4F<< =4 ?D><76>4EF6> 
<>=F464; 
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- ?>DO4>> ?>47>F>6>< >5>DG4>64=<O 4?O ?D><76>4EF64 
<>=F464; 
- F<?>6O5 <5F>4O < E?>E>5>6 ?D><76>4EF64 <>=F464; 
- 6<4>6, F5?5= < E?>E>5O ?D>6545=<O <E?OF4=<=; 
- EE5<O < ?>DO4>> ?D>6545=<O <E?OF4=<= 7<4D>=4E>E>6; 
7<4D>F<?<=4D>6, 7<4D><>F>D>6, 7<4D>4??4D4FGDO; 
- ?D46<?4 F5E=<>< 557>?4E=>EF< ?D< ?D>6545=<< <E?OF4=<=;  

 
1.3. �>?<G5EF6> G4E>6 =4 >E6>5=<5 ?D>7D4<<O ?D>D5EE<>=4?L=>7> 
<>4G?O: 
�E57> 3  358 G4E>6, 6 F>< G<E?5: 
6 F>< G<E?5 6 D>D<5 ?D4>F<G5E>>= ?>47>F>6>< 3 268 G4E>6. 
�7 =<E =4 >E6>5=<5 ��� 3 190 G4E4: 
?D4>F<><, 6 F>< G<E?5 ?D><76>4EF65==4O 3 144 G4E>6; 
�D><56GF>G=4O 4FF5EF4F<O 3 24 G4E4. 
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2. %&$'�&'$� � %���$����� �$�$�%%�����,���� ���'�/ 
2.1. &5<4F<G5E><= ??4= ?D>D5EE<>=4?L=>7> <>4G?O 

�>4O >><?5F5=F<= 
�4<<5=>64=<O D4745?>6 

?D>D5EE<>=4?L=>7> 
<>4G?O 

%G<<4D=O= 
>5N5< =47DG7>< 

�5N5< ?D>D5EE<>=4?L=>7> <>4G?O, 4>. G4E. 

$45>F4 >5GG4NM<EEO 6> 674<<>45=EF6<< E ?D5?>4464F5?5< 

->74<5= 
?> ��� < 
<>4G?N 

%4<>EF>O-
F5?L=4O D45>F4 
/ >>=EG?LF4F<< 

�E57> 
G4E>6 

6 
F.

 G
. 6

 D
>D

<
5 

?D
4>

F<
G5

E>
>=

 
?>

47
>F

>6
><

 

�5GG5=<5 ?> ��� 
�D4>F<>< 

�E57> 
 

� F>< G<E?5 

�
45

>D
4F

>D
=O

E 
< 

?D
4>

F<
G5

E>
<E

 
74

=O
F<

= �GDE>6OE 
D45>F 

(?D>5>F>6) 
'G55=4O 

�D><76>4EF65=-
=4O 

1 2 3 4 5 6 7 8 9 10 11 

�� 1.1. �� 1.2. �� 
1.3. �� 1.4. 
�� 01-09 
 

���.01.01 �>=F46 
7<4D46?<G5E><E < 
?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5<, 
6O?>?=5=<5 
?GE>>=4?44>G=OE 
D45>F < E44G4 
>5>DG4>64=<O 6 
M>E??G4F4F<N 

202 
 
 
 

112 

190 
 
 

 

100 
 
 
 

   12 - 

�� 1.1. �� 1.2. �� 
1.3. �� 1.4. 
�� 01-09 
 

'�.01.01'G55=4O 
?D4>F<>4 

36 
 
 

36   - 36- -  - 

�� 1.1. �� 1.2. �� 
1.3. �� 1.4. 
�� 01-09 
 

��.01.01 
�D><76>4EF65==4O 
?D4>F<>4  

108 
 
 
 
 

108 

 

 108 - - 

�� 1.1. �� 1.2. �� 
1.3. �� 1.4. 
�� 01-09 

�D><56GF>G=4O 
4FF5EF4F<O 
�64?<D<>4F<>==O= 

12 12 
 

 - 12 - 
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 M>74<5= ?> <>4G?N 

 �E57>: 358 268 190 100  36- 108 24 - 

 
3.2. %>45D64=<5 >5GG5=<O ?> ?D>D5EE<>=4?L=><G <>4G?N( ��.01) ?D>6545=<5 <>=F464 7<4D46?<G5E><E < 

?=56<4F<G5E><E GEFD>=EF6 < E<EF5<, 6O?>?=5=<5 ?GE>>=4?44>G=OE D45>F < E44G4 >5>DG4>64=<O 6 M>E??G4F4F<N 
�4<<5=>64=<5 D4745?>6 < 
F5< ?D>D5EE<>=4?L=>7> 

<>4G?O (��), 
<564<EF<??<=4D=OE 

>GDE>6 (���) 

%>45D64=<5 GG55=>7> <4F5D<4?4, 
?45>D4F>D=O5 D45>FO < ?D4>F<G5E><5 74=OF<O, E4<>EF>OF5?L=4O GG55=4O D45>F4 

>5GG4NM<EEO, >GDE>64O D45>F4 (?D>5>F)  

�5N5<, 4>. G / 6 
F>< G<E?5 6 

D>D<5 
?D4>F<G5E>>= 

?>47>F>6><, 4>. 
G 

1 2 3 
���.01.01 �>=F46 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5<, 6O?>?=5=<5 ?GE>>=4?44>G=OE D45>F < 
E44G4 >5>DG4>64=<O 6 M>E??G4F4F<N 

190/100 

      &5<4 1.1. %<EF5<O 
>D74=<74F<< D45>F ?> 
6O?>?=5=<N <>=F464 
7<4D46?<G5E><E < 
?=56<4F<G5E><E ?D<6>4>6. 

�� 1.1. �� 1.2. �� 1.3. �� 
1.4. 
�� 01-09 
 

%>45D64=<5 GG55=>7> <4F5D<4?4 22 
1.�E=>6=O5 ?>?>65=<O E<EF5<O >D74=<74F<< D45>F ?> <>=F46G >5>DG4>64=<O 
2.�D74=<74F<O ?D><76>4EF64 FDG44 ?D< 6O?>?=5=<< <>=F464 7<4D46?<G5E><E < 
?=56<4F<G5E><E ?D<6>4>6 
3.�5D5G5=L F5E=<G5E>>= 4>>G<5=F4F<< =4 ?D><76>4EF6> <>=F464 
4.�>DO4>> ?>47>F>6>< >5>DG4>64=<O > <>=F46G 
5.�7=4>><?5=<5 E F5E=<G5E>>= 4>>G<5=F4F<5= =4 ?D><76>4EF6> <>=F46=OE D45>F 

 

�D4>F<G5E><5 74=OF<O 24 
1.'F5=<5 F5E=<G5E>>= 4>>G<5=F4F<< =4 ?D><76>4EF6> <>=F46=OE D45>F. 
2.�>47>F>6>4 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> >5>DG4>64=<O > <>=F46G, D4E>>=E5D64F<<, 
?D>65D>4 =4?<G<O E>7?4E=> 654><>EF< ?>EF46>< 
3.'F5=<5 ?D<=F<?<4?L=OE 7<4D46?<G5E><E < ?=56<4F<G5E><E EE5< 
4.�D74=<74F<O F5E=<>< 557>?4E=>EF< < >ED4=O FDG44 ?D< <>=F465 >5>DG4>64=<O 

 

     &5<4 1.2. �D74=<74F<O 
<>=F464 < =4?44>< 
7<4D46?<G5E>>7> < 

%>45D64=<5 GG55=>7> <4F5D<4?4 48 
1.&<?>6O5 E?>E>5O < <5F>4O <>=F464 >5>DG4>64=<O 
2.�O?>?=5=<5 <>=F464 7<4D>=4E>E>6, 7<4D>F<?<=4D>6, 7<4D><>F>D>6 < 7<4D>4??4D4FGDO 
3.�D74=<74F<O < 6O?>?=5=<5 G7?>6>7>, 5?>G=>7> < >><??5>E=>-5?>G=>7> <5F>4>6 <>=F464 
4.�>E?54>64F5?L=>EFL < F5E=>?>7<G5E><5 FD55>64=<O > <>=F46G 7<4D>4??4D4FGDO, 
6E?><>74F5?L=>= 4??4D4FGDO < ?D<6>44 6 F5?>< 
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?=56<4F<G5E>>7> 
>5>DG4>64=<O E<EF5< < 
GEFD>=EF6 

  

�� 1.1. �� 1.2. �� 1.3. �� 
1.4. 
�� 01-09 
 

 

 

 

 

 

 

5.�>E?54>64F5?L=>EFL < F5E=<G5E><5 FD55>64=<O ?D>6545=<O ?GE>>=4?44>G=OE D45>F 
6.�D<=F<? D45>FO 7<4D>=4E>E>6, 7<4D><>F>D>6, 7<4D>4??4D4FGDO 
7.�EGM5EF6?5=<5 ?GE>4 < =4?44>< 4??4D4FGDO G?D46?5=<O < >>=FD>?O D45>G<E ?4D4<5FD>6 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 
8.�<4O, F5?< < E?>E>5O ?D>6545=<O <E?OF4=<= 7<4D>=4E>E>6, 7<4D>F<?<=4D>6, 
7<4D><>F>D>6, 7<4D>4??4D4FGDO. �D46<?4 &� ?D>6545=<5 <E?OF4=<= 
9.�4?44>4 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 =4 >?F<<4?L=O5 D45>G<5 ?4D4<5FDO 
10.�O?>?=5=<5 =4EFD>=>< < =4?44>< =4 D45>G<5 D56<<O ?D54>ED4=<F5?L=OE >?4?4=>6, 
74M<F=>= 4??4D4FGDO, >?4?4=>6 5OEFD>7> 6OE?>?4 
�D4>F<G5E><5 74=OF<O 50 
1.'F5=<5 F5E=<G5E>>= 4>>G<5=F4F<< =4 ?D><76>4EF6> <>=F464 7<4D46?<G5E>>= < 
?=56<4F<G5E>>= 4??4D4FGDO 
2.�>47>F>6>4 >5>DG4>64=<O > <>=F46G, D4E>>=E5D64F<O, ?D>65D>4 E?5F<D<>4F<< 
3.�>=F46 7<4D><>F>D>6 < 7<4D>=4E>E>6 < <E =4?44>4 =4 D45>G<5 ?4D4<5FDO 
4.�>=F46, =4?44>4 < <E?OF4=<5 7<4D46?<G5E><E < ?=56<4F<G5E><E E<EF5< 
5.�>=F46 G7?>6>7>, 5?>G=>7> < >><??5>E=>-5?>G=>7> >5>DG4>64=<O 
6.�D>6545=<5 <E?OF4=<= 7<4D>=4E>E>6, 7<4D><>F>D>6, 7<4D>F<?<=4D>6 < 4??4D4FGDO 
G?D46?5=<O < >>=FD>?O 
7.�EGM5EF6?5=<5 ?GE>4 < =4?44>< =4 >?F<<4?L=O5 D45>G<5 D56<<O 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 
8.�7GG5=<5  <=EFDG>F<= < ?>?>65=<= ?> F5E=<>5 557>?4E=>EF< < >ED4=5 FDG44 

&5<4 1.3. �>=F46 < 
=4?44>4  
M?5<5=F>6 7<4D46?<G5E><E 
< ?=56<4F<G5E><E 
?D<6>4>6, E44G4 
>5>DG4>64=<O 6 
M>E??G4F4F<N 
�� 1.1. �� 1.2. �� 1.3. �� 
1.4. 
�� 01-09 
 

%>45D64=<5 GG55=>7> <4F5D<4?4             20 
1.�>DO4>> <>=F464 7<4D46?<G5E><E =4E>E>6 < 7<4D><>F>D>6 
2. �>DO4>> <>=F464 7<4D46?<G5E><E E<?>6OE F<?<=4D>6 
3.�>DO4>> <>=F464 <  =4?44>< 7<4D46?<G5E>>= 4??4D4FGDO 
4.�>DO4>> <>=F464 FDG5>?D>6>4=OE G7?>6 < G??>F=5=<= 
5. �>DO4>> <>=F464 M?5<5=F>6 ?=56<4F<G5E><E ?D<6>4>6 
6. �>DO4>> E44G< >5>DG4>64=<O 6 M>E??G4F4F<N 

 

�D4>F<G5E><5 74=OF<O 

       26 

1. �>=F46 < =4?44>4 =4E>E>6 < 7<4D><>F>D>6 
2. %5>D>4, <>=F46 < =4?44>4 7<4D>F<?<=4D>6 
3. �>=F46 < =4?44>4 7<4D46?<G5E>>= 4??4D4FGDO 
4. �>=F46 < =4?44>4 FDG5>?D>6>4=OE G7?>6 < 
G??>F=5=<=. 
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5. �>=F46 < =4?44>4 M?5<5=F>6 ?=56<4F<G5E><E ?D<6>4>6 
'G55=4O ?D4>F<>4 '�.01.01 
�<4O D45>F 
- �7=4>><?5=<5 E F5E=<G5E>>= < <>=F46=>= 4>>G<5=F4F<5= =4 ?D><76>4EF6> <>=F46=OE D45>F. 
- �D>6545=<5 6E>4=>7> F5E=<G5E>>7> >>=FD>?O <>=F46=>7> >5>DG4>64=<O, ?D>65D>4 =4?<G<O <>=F46=OE 54<=<F, GEFD>=EF6 
< ?D<E?>E>5?5=<=, E>>F65FEF6<5 <E 654><>EF< ?>EF46><. 
- �D>D<?5=<5 4>F4 ?D<5<>< >5>DG4>64=<O 6 <>=F46. 
- �>47>F>6>4 >5>DG4>64=<O, <=EFDG<5=F>6, ?D<E?>E>5?5=<= < D4EE>4=OE <4F5D<4?>6 > 6O?>?=5=<N <>=F46=OE D45>F, 
D4E>>=E5D64F<O 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> >5>DG4>64=<O. 
- �O?>?=5=<5 <>=F46=OE >?5D4F<=, <E F5E=>?>7<G5E>4O ?>E?54>64F5?L=>EFL ?D< <>=F465 =4E>E>6 < 7<4D><>F>D>6, 
?4D4<5FDO <E?OF4=<O < FD55>64=<O > <E?OF4=<N. 
- �O?>?=5=<5 <>=F46=OE >?5D4F<= E<?>6OE F<?<=4D>6, EF5=4>6>5 <E?OF4=<5, >?D545?5=<5 ?4D4<5FD>6 <E?OF4=<O < <E 
?>E?54>64F5?L=>EFL <E 6O?>?=5=<N. 
. 
- %>EF46?5=<5 < >D>D<?5=<5 F5E=<G5E>>= < >FG5F=>= 4>>G<5=F4F<< E ?D<<5=5=<5< <=D>D<4F<>==>->><?LNF5D=OE 
F5E=>?>7<= ?> <>=F46G, =4?44>5 < <E?OF4=<N 7<4D46?<G5E><E < ?=56<4F<G5E><E ?D<6>4>6. 
- �O?>?=5=<5 74G5F=>= D45>FO ?> <=4<6<4G4?L=><G 7444=<N  

           36 
 
 
 
 
 
 
 

�D><76>4EF65==4O ?D4>F<>4  
�<4O D45>F: - �7=4>><?5=<5 E F<?>6O<< <5F>44<< < E?>E>54<< <>=F464 >5>DG4>64=<O < GEFD>=EF6 6 >>=>D5F=>< =45>D5 
<>=F46=OE 54<=<F. 
- �D>6545=<5 D45>F ?> <>=F46G < ?GE>>-=4?44>G=O< D45>F4< ?D< <>=F465 7<4D>4??4D4FGDO 
< 6E?><>74F5?L=>= 4??4D4FGDO 7<4D>?D<6>44, >7=4>><?5=<5 E <5F>44<< =4EFD>=>< =4 D45>G<5 ?4D4<5FDO, ?D>6545=<5 
>>=FD>?L=OE <E?OF4=<=. 
- �D>6545=<5 D45>F ?> <>=F46G >>=FD>?L=>-<7<5D<F5?L=>= 4??4D4FGDO, ED>>< < ?4D4<5FDO ?D>65D><. 
- �D74=<74F<O D45>F ?> <>=F46G >5>DG4>64=<O D45>F4NM57> 6 GE?>6<OE =<7><E < 6OE>><E F5<?5D4FGD, <5F>4O, E?>E>5O < 
>E>55==>EF< ?GE>>-=4?44>G=OE < <E?OF4F5?L=OE D45>F. 
- �O?>?=5=<5 ?D>D<?4>F<G5E><E <5D>?D<OF<= ?> E=<65=<N 6<5D4F<=, LG<4 E>45D64=<5 6>4O < 6>74GE4 6 D45>G<E 
6<4>>EFOE. 
- �O?>?=5=<5 D45>F 6 GE?>6<OE ?D><76>4EF65==OE ?45>D4F>D<OE ?> >?D545?5=<N D<7<>>-<5E4=<G5E><E E6>=EF6 D45>G5= 
6<4>>EF< < E<47O64NM<E <4F5D<4?>6. 
- �O?>?=5=<5 >>=>D5F=OE >?5D4F<= < 6<4>6 <>=F46=OE D45>F ?D< <>=F465 7<4D46?<G5E><E =4E>E>6, <>F>D>6 < E<?>6OE 
F<?<=4D>6. 
- �4EFD>=>4 D57G?<D>6>4 < D45>F4 E <>=F46=O<< ?D<E?>E>5?5=<O<<, <=EFDG<5=F><, >5>DG4>64=<5< < ?D<E?>E>5?5=<O<<. 
- �>=F46 >5>DG4>64=<O D45>F4NM57> 6 GE?>6<OE ?>6OL5==>= 74?O?5==>EF<, 74747>64==>EF< < E<<<G5E>< 47D5EE<6=>= 
ED545. 

108 
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- �=4?<7, >F5=>4 >4G5EF64 < M>>=><<G5E>>= MDD5>F<6=>EF< D45>FO EFDG>FGD=>7> ?>4D4745?5=<O ?> <>=F46G 
7<4D46?<G5E><E < ?=56<4F<G5E><E ?D<6>4>6. 
- �D74=<74F<O F5E=<>< 557>?4E=>EF< D45>FO EFDG>FGD=>7> ?>4D4745?5=<O 4?O D54?<74F<< ?D><76>4EF65==>= 45OF5?L=>EF< 
- �O?>?=5=<5 74G5F=>= D45>FO ?> <=4<6<4G4?L=><G 7444=<N < ?>47>F>6>4  >FG5F4 
  
�D><56GF>G=4O 4FF5EF4F<O 6 D>D<5 >64?<D<>4F<>==>7> M>74<5=4  24 
�E57> 358/244 
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4. '%����/ $������&�� �$�$�%%�����,���� ���'�/ 
4.1. &D55>64=<O > <4F5D<4?L=>-F5E=<G5E>><G >55E?5G5=<N 

$54?<74F<O ?D>D5EE<>=4?L=>7> <>4G?O ?D54?>?4745F =4?<G<5 GG55=>7> 
>45<=5F4 <>=F464, =4?44><, F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5<; ?45>D4F>D<< 
7<4D46?<><, M?5<5=F>6 7<4D46?<G5E><E < ?=56<4F<G5E><E ?D<6>4>6 <>=F464, 
=4?44><, <E?OF4=<O, 4<47=>EF<>< 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < ?D<6>4>6; >45<=5F4 F5E=>?>7<< D5<>=F4 < <>=F464 
?D><OL?5==>7> >5>DG4>64=<O;  E?5E4D=>= < <5E4=>>5D454FO64NM5= 
<4EF5DE>>=. 

�5>DG4>64=<O GG55=>7> >45<=5F4 <>=F464, =4?44><, F5E=<G5E>>7> 
>5E?G6<64=<O < D5<>=F4 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < 
E<EF5<: �><??5>FO GG55=>-<5F>4<G5E>>= 4>>G<5=F4F<<: =47?O4=O5 ?>E>5<O 
?> F5E=>?>7<< F5E=<G5E>>7> >5E?G6<64=<O ?D<6>4>6 < GEFD>=EF6; 
?D><OL?5==O5 >5D47FO 4>E<?L=>-?>DL=56>7> =4E>E4, D44<4?L=>-
?>DL=56>7> 7<4D><>F>D4, D4E?D545?<F5?5=, ?D54>ED4=<F5?L=>7> >?4?4=4, 
7<4D>F<?<=4D4, D<?LFD>6, =45>D <=EFDG<5=F>6 4?O E5>D><, D475>D><, =45>D 
??4>4F>6. 

�5>DG4>64=<5 ?45>D4F>D<< 7<4D46?<><, M?5<5=F>6 7<4D46?<G5E><E < 
?=56<4F<G5E><E ?D<6>4>6 <>=F464, =4?44><, <E?OF4=<O, 4<47=>EF<>< 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < ?D<6>4>6: �6GEEF>D>==<= 
GG55=>-?45>D4F>D=O= EF5=4 (6 >><??5>F5); 7<4D46?<G5E><5 < ?=56<4F<G5E><5  
M?5<5=FO: 5?>>< 7<4D>D4E?D545?<F5?5=, 5?>>< =4?>D=OE >?4?4=>6, 5?>> 3-E 
?<=5==>7> D54G>F<>==>7> >?4?4=4 EFO>>6>=, 4D>EE5?L E >5D4F=O< >?4?4=><, 
>><??5>F >>??5>F>D>6, <4=><5FDO; =4E>E=O= 47D574F, 7<4D>F<?<=4D, 
7<4D><>F>D, ?=56<>F<?<=4DO, ?=56<>4D>EE5?< E >5D4F=O<< >?4?4=4<<, 
?=56<>D4E?D545?<F5?<, 4D<4FGD4 4?O ?>4E>54<=5=<O M?5<5=F>6 < 7<5><5 
L?4=7<. 

�5>DG4>64=<5 >45<=5F4- F5E=>?>7<< D5<>=F4 < <>=F464 
?D><OL?5==>7> >5>DG4>64=<O  - >><??5>F F5E=<G5E>>= 4>>G<5=F4F<< =4 
?D><76>4EF6> <>=F464, >><??5>FO F5E=>?>7<G5E>>= 4>>G<5=F4F<< D5<>=F4 < 
<>=F464 ?D><OL?5==>7> >5>DG4>64=<O;  

�5>DG4>64=<5 E?5E4D=>= <4EF5DE>>=: E65D?<?L=O5 EF4=>< =4EF>?L=O5, 
DD575D=O= =4EF>?L=O= EF4=>>, E65D?<?L=O= EF4=>> E F<E>4<< «�>D65=F-42» , 
EF4=>> F>G<?L=O= 382�, =4EF>?L=O= F>G<?L=O= EF4=>>, F<EO, ?5DD>D4F>D �-
710 -$, 4D5?L G44D=4O �'-1100, G7>?L?<D<4L<=4 230-2,2G� 9020, =>6>6>4 
?> <5F4??G, =45>D <5FG<>>6 < ??4L5>. 

�5>DG4>64=<5 <5E4=>>5D454FO64NM5= <4EF5DE>>=- %65D?<?L=O= 
EF4=>> 2125, E65D?<?L=O= EF4=>> E F<E>4<< «�>D65=F-45», DD575D=O= EF4=>>, 
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F>>4D=O= EF4=>> 1�-616, EF4=>> >DG7?>?<?>G=O=, 74F>G=>= EF4=>>, =45>D 
<5FG<>>6 < ??4L5>. 
 
   4.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 
�5D5G5=L D5>><5=4G5<OE GG55=OE <744=<=, �=F5D=5F-D5EGDE>6. 
         
4) >E=>6=4O ?<F5D4FGD4: 
7 
?/? 

�EF>G=<> 

1. ,<?>6E><=, �. �. %5D6<E=>5 >5E?G6<64=<5 < D5<>=F <4L<= < 
>5>DG4>64=<O : GG55=>5 ?>E>5<5 / �. �. ,<?>6E><=, �. �. �<FGE<=, �. 
�. �>EFN>56<G. 4 %4=>F-�5F5D5GD7 : �4=L, 2022. 4 240 E. 4 ISBN 
978-5-8114-3279-0. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-
5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/206006 (44F4 
>5D4M5=<O: 12.04.2023).  

2. �5<E>>6, .. �. �D74=<74F<O < F5E=>?>7<O <E?OF4=<= : GG55=>5 ?>E>5<5 
/ .. �. �5<E>>6, �. �. �47<=4. 4 %4=>F-�5F5D5GD7 : �4=L, 2022. 4 220 
E. 4 ISBN 978-5-8114-3028-4. 4 &5>EF : M?5>FD>==O= // �4=L : 
M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 
https://e.lanbook.com/book/213002 (44F4 >5D4M5=<O: 12.04.2023). 

3. %<=5?L=<>>6 �.$. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 
?D><OL?5==>7> >5>DG4>64=<O: GG55=<> / �.$.%<=5?L=<>>6. 3 �>E>64 : 
�>445<<O, 2018. 3 336 E. 3 ISBN 978-5-4468-7319-7. 3 &5>EF: 
=5?>ED54EF65==O=. 

4. %FD55>>6 %.�.  &5E=>?>7<O D5<>=F4 <4L<=: GG55=<>  / %.�. %FD55>>6, 
�.�. %47=>6. 3 �>E>64 : ��$$�-�, 2019. 3 222 E. 3 ISBN 978-5-16-
012288-5.3 &5>EF: =5?>ED54EF65==O=. 

5. $4G>>6, �. ..  �=56<4F<G5E><5 E<EF5<O 46F><4F<>< : GG55=>5 ?>E>5<5 
4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. .. $4G>>6. 4 3-5 
<74., ?5D5D45. � 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 264 E. 
4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09114-4. 4 
&5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/514741 (44F4 >5D4M5=<O: 18.05.2023). 

6. &D<D>=>64, �. �.  �<4D>?=56<>?D<6>4: E?54OM<5 E<EF5<O ?D<6>4>6 : 
GG55=>5 ?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. 
&D<D>=>64, �. �. &D<D>=>64. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2023. 4 140 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-13670-8. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/518848 (44F4 >5D4M5=<O: 18.05.2023). 

 
6) 4>?>?=<F5?L=4O ?<F5D4FGD4: 
7 
?/? 

�EF>G=<> 
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1.  

$4E<<O=>6, %. �.  &5E=>?>7<O <4L<=>EFD>5=<O: E5>D>4 < <>=F46 : 
GG55=>5 ?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / %. �. 
$4E<<O=>6, �. �. �D4E<?L=<>>6, -. �. �4DFO=>6. 4 2-5 <74. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2023. 4 241 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-04387-7. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/514793 (44F4 >5D4M5=<O: 18.05.2023). 

6) ?5D<>4<G5E><5 <744=<O: 
7 
?/? 

�EF>G=<> 

1. �EF5EF65==O5 < F5E=<G5E><5 =4G>< : =4GG. 6GD=4?  / 7?. D54. �. /. 
%46><=. 3 �>E>64 :  ��� "�744F5?LEF6> "%?GF=<>+", 2002 4 .4 
�OE>4<F 12 D47 6 7>4. 3 ISBN ?5G4F=>= 65DE<< 1684 3 2626. 3 &5>EF : 
=5?>ED54EF65==O=. 

2. &�%������/ ��,���%&$����/ � ��&�$����������� : 
=4GG=O= 6GD=4? / GGD54<F5?L : �4GG=>-<EE?54>64F5?LE><= F5=FD 
«�4L<=>%FD>5=<5»  3 �>6>>G7=5F> : �4GG=>-<EE?54>64F5?LE><= F5=FD 
«�4L<=>%FD>5=<5» , 2017 4 . 3 �OE>4<F 1 D474 6 7>4. ISSN ?5G4F=>= 
65DE<< 2542-2146 3 &5>EF : M?5>FD>==O=  // -�% elibrary [E4=F]. 4 URL : 
https://www.elibrary.ru/contents.asp?id=42810369 (44F4 >5D4M5=<O: 
14.05.2022). 

6) <=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO 
7 
?/? 

�EF>G=<> 

1 -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> ��'»    
https://mgri-rggru.bibliotech.ru 

2 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. 
�=65=5D=>-F5E=<G5E><5 =4G>< (&N<�') www.e.lanbook.com 

3 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary» / �D46>>5?444F5?L: 
�5M5EF6> E >7D4=<G5==>= >F65FEF65==>EFLN «$'�-�» (RU)  
https://elibrary.ru 

4 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&» / www.urait.ru   
 
4.3. �5M<5 FD55>64=<O > >D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4 

'G55=O5 74=OF<O >D74=<7>6O64NFEO D4F<>=4?L=>, 6 E>>F65FEF6<< E 
<5F>4<>>=  < F5E=>?>7<5= >5GG5=<O, 6>7D4EF=O<< < DG=>F<>=4?L=O<< 
6>7<>6=>EFO<<  EFG45=F>6. 
'E?>6<O E>>F65FEF6GNF FD55>64=<O<  %4=�<�4. 

 %>744NFEO GE?>6<O, =5>5E>4<<O5  4?O  6E5EF>D>==57> D476<F<O < 
E>F<4?<74F<< ?<G=>EF<, E>ED4=5=<O 74>D>6LO >5GG4NM<EEO. 
 %?>E>5EF6GNF   D476<F<N 6>E?<F4F5?L=>7> >><?>=5=F4 
>5D47>64F5?L=>7> ?D>F5EE4,  6 F>< G<E?5 6>?NG4O, D476<F<5 EFG45=G5E>>7> 
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E4<>G?D46?5=<O, GG4EF<5 >5GG4NM<EEO 6 D45>F5 >5M5EF65==OE >D74=<74F<=, 
E?>DF<6=OE < F6>DG5E><E >?G5>6. 
      � F5?OE D54?<74F<< >><?5F5=F=>EF=>7> ?>4E>44  6 >5D47>64F5?L=>< 
?D>F5EE5 ?D54GE<4FD<645FEO  <E?>?L7>64=<5  4>F<6=OE < <=F5D4>F<6=OE 
D>D< ?D>6545=<O 74=OF<=      (>><?LNF5D=OE E<<G?OF<=, 45?>6OE < D>?56OE 
<7D,  7DG??>6OE 4<E>GEE<=,   D475>D4 >>=>D5F=OE E<FG4F<=, ?E<E>?>7<G5E><E 
<  <=OE FD5=<=7>6)   6 E>G5F4=<< E 6=54G4<F>D=>= D45>F>= 4?O D>D<<D>64=<O  
< D476<F<O >5M<E < ?D>D5EE<>=4?L=OE >><?5F5=F<=.  
      � F5?OE >55E?5G5=<O MDD5>F<6=>EF< E4<>EF>OF5?L=>= D45>FO 
>5GG4NM<EEO ?D54GE<4FD<645FEO E>G5F4FL 5U   E E>65DL5=EF6>64=<5< 
G?D46?5=<O 5N E> EF>D>=O ?D5?>4464F5?5=. 
   'G55=4O ?D4>F<>4 ?> E?5F<4?L=>EF< =4?D46?5=4 =4 D>D<<D>64=<5 G 
>5GG4NM<EEO G<5=<=, ?D<>5D5F5=<5 ?5D6>=4G4?L=>7> ?D4>F<G5E>>7> >?OF4 < 
D54?<7G5FEO 6 D4<>4E ?D>D5EE<>=4?L=OE <>4G?5= ?> >E=>6=O< 6<44< 
?D>D5EE<>=4?L=>= 45OF5?L=>EF< 4?O  >E6>5=<O <<< >5M<E < 
?D>D5EE<>=4?L=OE >><?5F5=F<=. 'G55=4O ?D4>F<>4 ?D>6>4<FEO 6 GG55=OE, 
GG55=>-?D><76>4EF65==OE <4EF5DE><E, ?45>D4F>D<OE. �E5 6<4O D45>F 
6O?>?=ONFEO ?>4 DG>>6>4EF6>< DG>>6>4<F5?O ?D4>F<><. 

�D4>F<>4 ?> ?D>D<?N E?5F<4?L=>EF< =4?D46?5=4 =4 D>D<<D>64=<5 G 
EFG45=F>6 >5M<E < ?D>D5EE<>=4?L=OE >><?5F5=F<=, ?D<>5D5F5=<5 
?D4>F<G5E>>7> >?OF4 < D54?<7G5FEO 6 D4<>4E ?D>D5EE<>=4?L=>7> <>4G?O 
��%%� ?> >464><G <7 6<4>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, 
?D54GE<>FD5==OE $��% %��.  

�5EF4 ?D>6545=<O ?D><76>4EF65==>= ?D4>F<><: EFDG>FGD=O5 
?>4D4745?5=<O ?D54?D<OF<O <4L<=>EFD><F5?L=>7>, <5F4??GD7<G5E>>7> < 
7>D=>-4>5O64NM57> ?D><76>4EF6, ?>  ?D>D<?N >>F>DOE >EGM5EF6?O5FEO 
?>47>F>6>4 ?> ��%%�.  

�<EF<??<=O, <7GG5=<5 >>F>DOE 4>?6=4 ?D54L5EF6>64FL >E6>5=<N 
?D>D5EE<>=4?L=>7> <>4G?O: <=65=5D=4O 7D4D<>4, 7<4D><5E4=<>4. 

4.4. �44D>6>5 >55E?5G5=<5 >5D47>64F5?L=>7> ?D>F5EE4 
�5447>7<G5E><5 >44DO, <<5NM<5 6OEL55 >5D47>64=<5, 

E>>F65FEF6GNM55 ?D>D<?N ?D5?>44645<>7> <>4G?O. �?OF 45OF5?L=>EF< 6 
>D74=<74F<OE E>>F65FEF6GNM5= ?D>D5EE<>=4?L=>= ED5DO O6?O5FEO 
>5O74F5?L=O<, MF< ?D5?>4464F5?< 4>?6=O ?D>E>4<FL EF46<D>6>G 6 
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